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s= klxnf] rf}dfl;s cfof]hgfx?

!=	 ;8s dd{t sfo{ ?=10,00,000÷–

@=	 st'jg j]zL vf]/8fF8f ;8s :t/ pGgtL ?=2,00,000÷–

#=	 nIojf; u'b{'d rf}3/] ;8s lgdf{0f ?=5,00,000÷–

$=	 ;'Ts]/L k5]p/f vl/b tyf ;'Ts]/L :ofxf/ kfl/>lds ?=40,000÷–

%=	 kz' kl/hLjL lgoGq0f EoflS;g sfo{qmd ?=1,50,000÷–

^=	 l/lug k|f=lj= ejg lgdf{0f ?=1,00,000÷–

v= bf];|f] rf}dfl;s cfof]hgfx?

!=	 tfdfª ;d'bfosf] wd{ ;+/If0f ejg ?=3,50,000÷–

@=	 vfg]kfgL wf/f lgdf{0f sfo{ ?=3,00,000÷–

#=	 >L j'4 eujfg df=lj=jfnkf]if0f sfo{qmd ?=1,40,000÷–

$=	 >L dflgv]n cf=lj=jfnkf]if0f sfo{qmd ?=30,000÷–

%=	 >L 1fgrIf' k|f=lj= jfnkf]if0f sfo{qmd ?=55,000÷–

^=	 >L afn k|f=lj= jfnkf]if0f sfo{qmd ?=10,000÷–

&=	 >L l/lug k|f=lj= jfnkf]if0f sfo{qmd ?=15,000÷–

*=	 h]i7 tyf ckfËtf gful/s ;Ddfg sfo{qmd ?=1,50,000÷–

(=	 cjnf]sg e|d0f ?=1,00,000÷–

!)=	l/lugvf]nf RCC k'n lgdf{0f ?=2,00,000÷–

!!=	>L j'4 eujfg df=lj=jfn lgdf{0f ?=1,50,000÷–

!@=	;fd'bflos ejg lgdf{0f hUuf ;DEofpg] ?=1,00,000÷–

!#=	Rofp v]tL tflnd sfo{qmd ?=1,00,000÷–

!$=	dlxnf Ifdtf tyf g]t[Tj ljsf; sfo{qmd ?=1,00,000÷–

!%=	o'jf Zj/f]huf/ l;kd'ns tflnd sfo{qmd ?=2,00,000÷–

u= t];|f] rf}dfl;s cfof]hgfx?

!=	 l/lug8fF8f lrof g;{/L ?=1,00,000÷–
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@=	 vfg]kfgL kfOk vl/b tyf ljt/0f ?=3,00,000÷–

#=	 >L dflgv]n cf=lj=k|f]h]S6/ vl/b ?=50,000÷–

$=	 l/lug8fF8f tNnf] 6f]n ;8s lgdf{0f ?=4,00,000÷–

%=	 l/lug vs{ x'Fb} 8f]n rf}/ ;8s lj:tf/ ?=1,00,000÷–

^=	 vfjf eGhfª lkvn] lrxfg\ ;8s lj:tf/ ?=2,00,000÷–

&=	 bdfO{ 8fF8f k'/fgfufpF ;8s lgdf{0f ?=1,00,000÷–

*=	 j[Iff/f]k0f sfo{qmd ?= 50,000÷–

(=	 ljkb\ Joj:yfkg sf]if ?=1,00,000÷–

!)=	sfof{no Joj:yfkg tyf sd{rf/L Ifdtf ljsf; ?=1,00,000÷–

!!=	;dk'/s sf]if -Doflrª km08_ ?=5,10,000÷– -cGoq jlu{s[t gePsf]_


